368

MAEC-07
December - Examination 2018
M. A. (Final) Economics Examination
Labour Economics
Paper - MAEC-07
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 8§xX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) Give answer of the following questions.

=1 gt & IR SR

(i) What are the various categories of labour?
37 & A= YR &F A §°?

(i) What do you mean by manual labour?
RN %19 A 37 T FTT g ?

(iii) Define migration.
TarT Bl gk SR

(iv) Explain the meaning of Rationalisation.
e gfe @t aref gargy

(v) What is workmen's compensation act 19237

giffep afcrgfdd arfafm 1923 @ g2

(vi) What is disguised unemployment?

3159 SRISFIRT /T 82
(vii) Define Bonded labour.
YT ASIGR bl IRATYT BRI |

(viii) What do you mean by social security?

AT RETT 37T T A & ?

Section - B 4x8=32
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
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ug - §
(oTg TR UeA)

fAder: gl IR Al & IR ST 3T 3 IR Dl 3ferhad

200 grect o AT HITTI T U9 8 3! & gl

Discuss classical theory of labour Market.

S IIOTR & RERTETET Riged &l fadamT S|

Describe the objectives of social security.

AT GRET b Sl Pl e BRI

Show the interrelation between technology change and
employment.

Tt IREdT g AR & qeg IaRgwee Jarsu|

Discuss the concepts of minimum wage, fair wage and living

wage.

R oI, S Feigdl v fafg weigd Y sramRon i
T HIRT

Discuss the functions of trade unions.

1fieh del b Bt Y fader Bl

Discuss the characterisitcs and problems of rural labour in
India.
qRA | I 31 6 fJIvan @ o Jaqgy|

Discuss the economic condition of agricultural labourers in
India.

IRA H Py Ayl DT aMfefer fRfer i faeemT B
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9) Describe the child labour in India.

TR H 1o 39 B g1 HIfvr|

Section-C 2X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

Qs - ¥
(el ST ¥9d)
fAder : formgl S U9l & ITR SINITI 3T 31U+ IR A 3ferapad 500
gegl § ufAifia HifTTl vdd U9 16 37l o Bl

10) Write an essay on labour problems of developing nations in
context of India.

IR & 39T e o feprasfict <o 6t 519 THRI3N W U oikg forRau|

11) Which is suitable technique for a developing country like India?
What are the criterion for the choice of a proper technique?

AR SR [Jepraeiiel <o & folg it depeiieh Iugerd ¢ 2 Sugad
qepeilch T 1 T Pilfeal & 2

12) Write an essay on International labour unions.
RIS 31 A7ed R FHeg foRau|

13) Discuss social security in India.

AR | AR GREM 1 fe= T Hifm
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